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e Simulate the “if-then” and “if-then-else”
statements by “while-do” loops.
— if CONDITION then BODY
— if CONDITION then BODY1 else BODY?2
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 Show how to simulate a “while-do” loop by
conditional statements and a recursive
procedure.

— while CONDITION do BODY
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1. Find the minimum value in the list.
2.  Swap it with the value in the first position.

3. Repeat the steps above for the remainder of the list
(starting at the second position and advancing each time).
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Subroutines can be very economical as far as the size of an
algorithm is concerned.

Subroutines not only shorten algorithms but also make them
clear and well structured.

All that the user of the subroutine has to know is what it does,
but not how it does.
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—x_1
— abc
— ABC123z7

— Big_Bonus
—12
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— %change
— data-1
— PROG.CPP
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—-x_1
— abc
— ABC123z7

— Big_Bonus
—12

— %change
— data-1
— PROG.CPP
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—x_1

— abc

— ABC123z7
— Big_Bonus
— 12

— %change
— data-1

— PROG.CPP
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— whilei&H]
— AP A

— switchit =]




